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ability

I do not doubt your ability of making scientific research.

MI I do not doubt your ability to make scientific research.
(EX] RAFRREARE R LIERIBES
B %39 ability # A R E X &, @ RA of + 3 £, 4: A dog

has the ability to hear sounds that man can’t. % 88 %7 2] A B 9 K £
él’}” Ho

A A1 K11 e R E T IR S mmappp—"

EBFTIOF:

1 ARBEBRI R R ZH

2. RAVEE A RE b B 4
3. XA R IR A HERRE T

% ANSWERS:

1. He has the ability to predict future events.

2.We have faith in her ability to handle this affair.

3.The young girl shows the considerable ability to sell anything.
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admission
B The admittance to the Museum of Natural History is 5 dollars.
[EE#] The admission to the Museum of Natural History is 5 dollars.
B AN TES S £,
X 4 # admittance #= admission( = permission to go in) # A “f # it
A" #) % %, admittance *t admission £ # JE X, admission B £ %
FR. EANEE TR ZHHE A4 A admission( =

entrance price) o

PUTTIRTEPTTSITTIE S S e R A > © G S I SIDG S S ©

BEEETIGF:

1. RATEMT AG FR?

2 AR AT ST, TR ER T BER
3.JAG T —FEITHA R KR

¥ ANSWERS:

1.Must we pay for admission?

2. His admission of the thief solved the mystery.

3.We paid one dollar for admission to the football ground.

advertising
[SME| Advertisement exerts a subtle influence on us.
[EE#] Advertising exerts a subtle influence on us.
I &R AN E R R
Bl advertising A &89 AR, R AT H L, LB, HED
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] ) 34, advertisement & 7T 8 & 33, iX £ £ % £ A machinery
— machine, baggage - bag, jewelry — jewel, poetry — poem ¥

PR I D -

ESRPN S SHNRIETR TN F:
1. XAFRERHRE &,
The magazine contains much __ .
The magazine contains many __ .
2. ERTHIER RS
__ costs manufacturers a great deal of money.
3R TAE, TR L&) &,

If you want a job, put an ____ on a newspaper.

3 ANSWERS:
1. advertising, advertisements

2. Advertising 3. advertisement

air-conditioning

I won’t have air-condition installed.
‘i I won’t have air-conditioning installed.
RFRERETHEE,

F air-condition & 3133, 7 & % 1, & A “ K £ A" ; air-conditioning
EATAKRE S

Fes e e W Ak o1 5%



PREBOTOBLE

PO R SUR SIIR SRR T e e GGG GG G GG

oiEE:

He felt hot and tumed on the air-condition.

% ANSWERS:

air-condition —> air-conditioning

appearance

| He has put on the look of honesty, innocence.

[EE®] He has put on the appearance of honesty, innocence.

o3 —RIE L TEMETL,

X appearance #= look #EA “IML” SR 2 & 2B AR ZIALY A
BA M SRR, appearance & & %A A0 A @9 £, Bt

FEEATEHEAEWAME, look TEBRALABR FAE. L
W AN EREAKATE B AHEFRLES FA KA B,

B
At A . Al e | P TSI NI S —

AR LM EESNRETR TIDF:

1.Her is homely, but she had a heart of gold end was kind to
others.

2.The girl was standing there alone, with a of triumph on her
face.

3. They spent their lives trying to keep up _, and to make his

salary do more than it could.
-4 -
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4.1 choose my friends for their good ____, my acquaintances for their

good characters, and my enemies for their good intellects.

# ANSWERS :
1 . appearance 2. look 3. appearances 4. looks

asset
BN Intellcctuals are valuable wealth to the country.
[EEM] Intellectuals are valuable assets to the country.
HIAS FRERNERUE,
XD %34 wealth 5 asset 3 TH“Bf 27 “B %" #,423] & 5 “ % %
EIAT B, IR asset; KT M AL T A asset, X 4o

Good health is a great asset.
HERZEXHME,

AR ST T TR IR AR S e

WRETHEF.

LAEEAREERORKUE .

2MR—LE A,

3AESHIME R T REMFEHHINST HCBIER,

3¢ ANSWERS:

1. Science and technology is a great asset to a country.

2.He is a man of wealth.

3.The wealth of society is created by the workers, peasants and work-

ing intellectuals.
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audience

;] The scientist’s speech drew a large spectators.

i
II The scientist’s speech drew a large audience.
B BERSROREBRS] TIFSEXo
“ ARETER a large audience, “of A V" B a small audience, X
%
There was a small audience in the auditorium.
KALE KA
audience — 3 & 4k £33, F A L8, o
A broadcast speaker may have an audience of millions.
JAE R TRA T T TR
spectator ATH LM,

PUTPAFTPTISSRTR TR ST S SR} G G GG GG G G

EMETIDF:

1.7 40000 ARE T A R BRFE o

2 B AL ARG, i BIR K.
3.RKE L, IFLSURE R EARIIKRTO

% ANSWERS:

1. There were forty thousand spectators at the football game .

2. She felt quite nervous at having to sing before such a large audience.
3.Many spectators, crowded early at the gate of the flower show that

morning .
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authority

i “The Oxford English Dictionary” is the best authorities on English

words.

“The Oxford English Dictionary” is the best authority on English

words .

(HERIEARA)RHREFATHRBL,

R s im b A — 2 20 % AHBXAFRANEL, 4o an-
thority (42 77 (AU A £ ), authorities ( % & . % A # ) ; paper( 4% ),
papers($R 48 \ A+ LK A ) 5 glass (3 38)) |, glasses (K 3B 47 BR 4%) ;

copper( 4R ) , coppers(4A#& 48 T ) ;tin( 4} ) , tins( ## 3% ) ; damage (3%
31, damages( W12 % ) .

G A A i > > > > o e .e e

EERBPRESLHNPETR TNDF:
1 BRAEARE S

The __ do not allow public meetings.
2 IRBETT bl BT A5 9 AT 1000 £ TR MRS
The court ordered him to pay $ 1,000 ___ to the person he had
hurt.
3. AT A A MR X T T AR
They acknowledge her as an ____ in this matter.
¢ ANSWERS:

1. authorities 2. damages 3. authority

O - PR P B £ e e AT 21 o
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base

; ‘f,.‘*:« We have set up a basis at the South Pole.
" We have set up a base at the South Pole.
RINDLERRBT T — 1 Eitho

BB base (% &, H 3 ) 5T A Btkoh “ Bk do
The base of the column of the building is made of granite.
iR AR AR B,
A5 AR AR 3 B8 A e
Industry and agriculture are the economic base.
TR A ZFER,
basis( B 2k, K )i F A TR K", o
The three layers of the heart wall form the basis for one grouping of

heart pathology .
B ZA B R RS BRI F 4 R A

A il A Al A PSP YE s ST e SR AT

EBBPRMEBEUNPERR TIADF:

1.The __ of the monument is made of marble.

2.The experiments have laid a solid ____ for our further research.

3. After bombing the enemy positions, our airplanes returmed safely to
the

< ANSWERS:

1. base 2. basis 3. base



PBEREDOHEL

bound
/B The headmaster ordered the pupils to stay within bound of the school-
yard.
[EE#] The headmaster ordered the pupils to stay within bounds of the
schoolyard.
BKITRE4E BERBEEA,
[ bound #5587 AR CREIRA, A LMK, T

There are no bounds to the enemy’s ambition.
BAFCHH, FT# R,

A ) i A @ A i 1 sl 5 N i

WETI9F:

1 X E AR R,

2 M EF ORISR

3AERBENIE, ARHSEMME, A ER S BT YA,

¥ ANSWERS::

1.1t is beyond the bounds of human knowledge .

2. There are no bounds to his ambition.

3. Please keep within the bounds of reason, do not say foolish things,
attempt impracticable things.

boundary

i

. w] The new border of the country were fixed after the war.
‘l The new boundaries of the country were fixed after the war.
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BEZERNFAREET Tk,

[E&H|border #= boundary #1 A “A R LB ZE A2 KA LBH
£ %, boundary 3§48 £ 6938 %, B FF AR AR K. border 3
BRBE, EEFR AR,

TR SR SN S SNSRI S G W G e G e

AR LR EESHNBETEN THOF:

1.She has been working in a _____ region since her graduation.

2. Young must go through customs in order to pass across the

3. Negotiations about fixing the ___ line between the two countries are
still going on.

4. By international agreement the __ of each nation fronting a body of

water extends exactly three miles from coastline.

»* ANSWERS:
1. border 2. border 3. boundary 4 . boundary

chance
1-1 There’s good opportunity that she will be well enough to retum to
school next year.

|| There’s good chance that she will be well enough to retum to school

next year.

FEMTREELSREERFR
opportunity # chance YE“ L2 M8, P TRERIE A F:

He never misses a chance(an opportunity) of playing tennis.
R R A it — R AT R ML,
. 10 .
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We should make use of every opportunity (chance) of speaking En-
glish.

EMNEA B — s EiE,

chance( = possibility )£ “ T 414" ## , chance & & 1518 5K Mk . & 41
THEME, A 4F A B, 4547 65 7T 5 opportunity i ) ; opportunity &
FRFNE, 4o

You’d have more chance of catching the train if you got a bus to the
station instead of walking.

I RBFARMLAERRAYITALE] L35 RIRATHRELK
%,

1 il - [ 38 ¢ GGG GG A G S

g F
1.They had no opportunity.

2. Bravely though they fought they had no opportunity of winning.
3.1 had no opportunity to discuss it with her.

3 ANSWERS:

1. opportunity—>chance
2. opportunity—>chance
3. opportunity—>chance

character

The economic and trade exhibition will have intemational characters.

| The economic and trade exhibition will have international character.

R4 RFABRESREREN,
. 11 .
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B 4 39 character #“ W /K" . “ S 6" B, R A £ 4 , 4w : Johnson is a
man of firm character. #9#ih % — MHRBEE A, AL,
“CFTRR T R BB, e
Chinese has no alphabet and is written in characters.
PIXRFHE,AXFHE,

There are attractive characters in the play.

Bl BTN FBANAE,

PP IR T TR R S SR

WETIYF:
LXHERPERNSEEME,
2.HHEREMGIER MR,

X EHERTEERS AR KM ER

% ANSWERS:
1. There are two leading characters in the play.
2. Education builds good character.

3.There is a great difference in character among the three sisters.

chicken

I'd like to have some chicken’s soup first.

[E#] 1'd like to have some chicken soup first.

RBEWAGF

EEE ciantiEn  RERHFAFTHAXA ZWLR FEX
A RAEXR,AREATRER L3N EEF R ARE,

C12 -
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PR RTE e ST S 2

BERETIGF:

1. HERBYIRAIRE T S WE R Bk
2. BAKBRESRFE— B,
3AREET T BR.

3% ANSWERS:

1.The visitor’s arrival was reported in yesterday’s papers.
2.The énemy’s defeat brought the war to an end.

3.1 bought a new book case today .

coffee

| Waiter, four black coffee, please.

1. Waiter, four black coffees, please.

R B, 3% 4 FEmRE

[ coffee £ 7 Gr k" A TH £, B &) F EAH4HFFDA"o tea
# A kS coffee AR .

A Tl i @ O T Wk A

EIETIEF:

1. R T 0T g 4 e A g an e

2. — %k | et Aar?
—— B ARIIRE

3 TR T omEERR
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% ANSWERS:
1.1 prefer milk coffee to black coffee.
2.~ What would you like, sir?

— Two coffees( Two cups of coffee) .
3. He dropped the coffee cup and broke it.

climate

]

| How do you like the weather of France?

[EEM] How do you like the climate of France?

[(BX) REBEZANSBRELR?

X climate #= weather # & 7= “ X A" . “A %", 2% AL H KA.
climate A T — X FFHRKE L FHHRAKF L, H A
BVAEVRE B E. B BE, climate & T A T, # ALK

£, weather A T E — WK EX — Bkt E Aeh R A HE AL,
B R F @ A BF,

A1 N 1 sl PSS IS NI, s

AP LSS RETER THOF:

1. One likes to be out of doors in such beautiful ___ as this.
2.He could not stand that terrible English .

3.Since you are in bad health, you should not go out in bad ____
4 .Islands always have a milder ____ than the main land.

¥ ANSWERS:
1. weather 2.climate 3. weather 4. climate

« 14 -
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contents
[BE The contents of the barrel is forty kilos and its contents are rice and
peanuts.
[ZE#] The content of the barrel is forty kilos and its contents are rice and
peanuts.
EMEMERE O LAF, EEEAERKNEE,
XD | content #= contents # T A K A", 2 = F 69 & LA LA B E
MAE B BMYMRE, content X F“2F "X HEHMU“HE",
contents X 7 “ B %", i 53 11 & K A £ 4. contents KT 5 B

il ROAED, EONAR LRI, Li5E3i00ELR
B ., content A FEBHTH",

1A A Gl i A L USSR S S ST SRR S R

ESB PR S LB FTRTIDF:

1. High day temperatures increase the sugar of the grape.

2.The police were interested in the ___ of the murdered woman’s bag
stomach.

3.You would be surprised at the _____ of a schoolboy’s pockets.

4.The teacher was dissatisfied with the essay which , she said, had a

poor .

% ANSWERS:

1. content 2. contents 3. contents 4 . content

controversy
There was a huge quarrel over the plans for the new school .
<15 -



